H o & 8 F

SF6E6 A1 2 BICRMYLIZR 6 i3 5 7 BITF)IIESEEEE VBN RRESMTO 7 THECE
AP OEFICHAVSEMEZITE5E CRHBEMA—ROEBIZOWTITEMHCIER < £4) 12201 T
. ROEMEOEBYEET D,

Uk, BEEOFEE L TAEZE2BEEZIER L, YEFMTEAHHOL, 8 1@B2RE7T 5,

a 64 6 A20H

FREE R TERTEMRERXRAE5-27-1

K4 SEXHAETSHELSE

BSOS G 5 TREEEEER

BEH FaK {

ZEE ¥ ERHEARAF=THE21%&%10%

K4 REARBREASHRIEIUE

9y

-1~ EHEEE R



HOfl =%

THEXSy « T - FER - 5 B % LFEAL B G EHAMm & H TZ (BB
WRReTH
= 1 121, 557, 829
HhdE T
= 1 557, 848
s b7k
= 1 189, 499
s B 7K BIERL K
[ ]
m2 71 2, 669 189, 499
ST X T
= 1 316, 119
LSl TAT7VMEREERR BH%E)E 80mm
= 1 48, 840
LB TAT7VMEREERR SHEERRE 8 ¢ m
m2 71 215.5 15, 300
HJE A9 (2. 3084 2. 40t/m3AT) &
BT VAR TR B Al L
[#% ] 40mm 3. Omi&
m2 71 1,745 123, 895
#FJE A9 (2. 3084 12, 40t/m3AT) &
BTV TR B Al L
[#% ] 40mm 3. Omi&
m2 71 1, 804 128, 084
TE LI T
= 1 52, 230
I TAT 7k
m3 6 2,976 17, 856
ALy TAT 7 Wbk
m3 6 5,729 34, 374
X R
= 1 7,782
S
= 1 7,782

-1- (] - xzid BE A T i




NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
VAR X R AT E) 6 15em JE 1. Smm
B Al 2 fe
(1)
m 4 351.1 1,404
VAR X R ARCFE) R 15em &1L 5mm
A Al 2 fe
(2)
m 17 375.2 6, 378
TR RR T
= 1 90, 180, 115
IRWSGHS 53 4% 2. L
—
= 1 19, 436, 239
a7 Y —hKMEIDoY Vo —H =Tz MNIDOY
—
m3 4.8 3, 334, 121 16, 003, 780
ERARB )= Ay MEVIVER A
m2 37.5 38, 490 1,443, 375
a7 Y—F EBEAE )= N TRR
[ ]
m3 4.8 339, 848 1,631, 270
Tl e T (BRAGIRAR)
—
= 1 357, 814
IRWSGHS 53 4% 2. L
AL
= 1 18, 653, 042
a7 Y —hKMEIDoY Vo —H =Tz MNIDOY
WA
m3 4.6 3, 334, 121 15, 336, 956
ERATB )= Ay MEVIVER A
m2 36.6 38, 490 1,408, 734
a7 Y—F EBERE )= N SFTRR
[ ]
m3 4.6 339, 848 1, 563, 300
Tl e T (BRAG IR AR
T
= 1 344, 052
IRREA 3R T (bR B kB g 1T0R)
—
= 1 34, 999, 880

Ao BE A5 2 i =




NAWA

i

*

THEXSy - THE - Fp - B P - BRI B & A HU & H 2 (BB
AL PR
—
m2 576 2,814 1, 620, 864
7" 94— A5 Y
—
m2 530 2,332 1, 235, 960
ENr=ias FFREY
—
m2 530 6, 466 3, 426, 980
R S - M RS 15m - s B AR
00g/m2 5|5R58E3, 400N/mm2
—
m2 824 16, 246 13, 386, 704
R S - M RS 15m - s B AR
50g/m2 5|8R58 /%3, 400N/mm2
—
m2 824 16, 948 13, 965, 152
AR A B TR RVBIIR G (hE V) | oVhAs
FEUEH(E®ED)
— D
m2 530 2,574 1, 364, 220
PRI L (PR SRl e as 11%)
B
= 1 17,042, 192
N AL ER
HEE
m2 177 7,036 1, 245, 372
7" 94— LS
TS
m2 163 4, 665 760, 395
ENr=ins FFREY
HEE
m2 163 12, 365 2,015, 495
R S - M RS 15m - s B AR
00g/m2 5|5R58E3, 400N/mm2
HEE
m2 254 23, 550 5,981, 700
R S - M RS 1Hm - miEE B AR
50g/m2 5|8R58 /%3, 400N/mm2
HUET
m2 254 24, 252 6, 160, 008
ik TR RVBIIR G (hE V) | oVhves
FEGEH(E®ED)
HEE
m2 163 5,394 879, 222
T UL T
= 1 48, 762
-3 - E 2@ BT A R




NAWA

il

*

THEXSy « T - FER - 5 B % LFEAL B G EHAMm #H TZ (BB
I av9Y)=hik (IE57)
m3 9 1,294 11, 646
ALy av9Y)=hik (IE57)
m3 9 4,124 37,116
e L
= 1 4, 164, 660
OOEIAfiE T
= 1 303, 278
FeCALIE 20mAT & Je—tAs b eV
&) 1 105, 708 105, 708
IREEN T3 25mAm TR & VIR AR
&) 1 197, 570 197, 570
WriEfEE 1
= 1 282, 605
fEE LIk 0. Im3R3M5 & Jo—tpv beviv 8k#% 4
Lo - SR DS AR
&) 1 282, 605 282, 605
KFHRE L
HIPERA 1L
= 1 2,963, 930
HITEB 1k HBTERE A 1 < TR Kea-T 4007 (
FEET))
m2 166 17, 855 2,963, 930
Mt L
= 1 614, 847
& THLE
T 1 614, 847 614, 847
= 1 32, 882
TR
= 1 32, 882
-4 - E hzzim B SH A R




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
AR gy (B ) TR EFTHOA)
m2 3 2,908 8, 724
N Wha=b ZEPEE ¥V IR R (U8)
@ WAL 1A
m2 3 1,011 3,033
N HBIER R ¥R IR SR 2laR v /
J&) @ BEEEE 1E
m2 3 4,677 14, 031
R SoBMIERER Y BRI
1[=]
m2 3 871.9 2,615
RS So FHIRERE RE BRI 1
=]
m2 3 1,493 4, 479
G an
= 1 26, 614, 542
BT
= 1 15, 217, 970
S5 (1) Himl. omPh b WEAAIGAEE  ARIRRS
i
= 1 12, 618, 450
255 (2) FREETRAEY; 72t b
= 1 1, 856, 740
255 (3) FRETRAEY; 72t b
HEEETS
= 1 327, 660
255 (4) HE RS 28
BT
= 1 415, 120
~N/NRE - WS
= 1 5, 988, 352
A" bR
= 1 5,692, 014
NV e
= 1 296, 338

-5 - Ao BE A5 2 i =




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
AWE LT
= 1 5, 408, 220
ARIE G B
A
= 1 1, 124, 520
ARIE G B
B
= 1 1, 965, 840
AW B
A [#R]
= 1 843, 420
AW B
B [#f#]
= 1 1, 474, 440
[EEPEIE % ¢
= 1 121, 557, 829
MR
= 1 19, 164, 906
B3 TS
= 1 2, 741, 995
s g
= 1 57, 340
TE B it R E AT IR
= 1 57, 340
B REsET (K3 L)
= 1 2, 684, 655
HIBGERE (FEH L)
= 1 16, 422,911
Wi
= 1 140, 722, 735
s
= 1 65, 001, 224

-6 - (] - xzid BE A T i




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
T AT

= 1 205, 723, 959
— R

= 1 31, 926, 041
TS

= 1 237, 650, 000
THE BRI Y %H

= 1 23, 765, 000
TH#&G

= 1 261, 415, 000

-7 - (] - xzid BE A T i




